
MATH 1211 - Assignment 4

Due:  February 28
PART I (To be done by hand)

10.82(10.78),  10.124(10.120), 14.100(14.96). 

PART II (To be done using MINITAB)

10.128(10.124), 14.78(14.74)
10.128(10.124), Stat > ANOVA > General Linear Model  (use GLM to perform TWO-WAY ANOVA)
Responses: Select the column(s) containing the response variable(s).

Model: Specify the terms to be included in the model. SONG POOL SONG* POOL. 

<Comparisons>
Pairwise comparisons: Choose to obtain pairwise comparison of all mean for designated terms.

Terms: Enter the model terms for comparison. SONG POOL SONG* POOL
Method: Select the multiple comparison method(s). See Multiple comparisons.

Tukey: Choose the Tukey (also call Tukey-Kramer method in unbalanced case) method.

Bonferroni: Choose the Bonferroni method.
Factor Plots
Displays plots of the main effects and interactions in your data.

Main Effects Plot: Display plots of main effects.

Factors: Chose the factors to plot.

Interactions Plot: Display plots of two-way interactions.

Factors: Choose the factors to include in the plot(s).

14.78(14.74)Stat > Nonparametrics > Friedman
Friedman test is a nonparametric analysis of a randomized block experiment, and thus provides an alternative to the Two-way analysis of variance. The hypotheses are:

H0: all treatment effects are zero versus H1: not all treatment effects are zero

Randomized block experiments are a generalization of paired experiments, and the Friedman test is a generalization of the paired sign test. Additivity (fit is sum of treatment and block effect) is not required for the test, but is required for the estimate of the treatment effects.

Dialog box items

Response: Enter the column containing the response variable.

Treatment: Enter the column that contains the treatments.

Blocks: Enter the column that contains the blocks.

Store residuals: Check to store the residuals. The residuals are calculated as the (observation adjusted for treatment effect)  (adjusted block median).

Store fits: Check to store the fitted values. The fits are calculated as the (treatment effect) + (adjusted block median).

Output

Minitab prints the test statistic, which has an approximately chi-square distribution, and the associated degrees of freedom number of treatments minus one). If there are ties within one or more blocks, the average rank is used, and a test statistic corrected for ties is also printed. If there are many ties, the uncorrected test statistic is conservative; the corrected version is usually closer, but may be either conservative or liberal. Minitab displays an estimated median for each treatment level. The estimated median is the grand median plus the treatment effect. 
